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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A — question number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - question number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - question number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — question number 31 to 33 are Source-based questions having three
sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Who among the following is the author of the book ‘The Story of Indian
Archaeology’ ?

(A)  John Marshall (B) Daya Ram Sahni

(C) S.N. Roy (D) R.E.M. Wheeler

Read the following statements about the Mauryan Empire :

I. The growth of Magadha culminated in the emergence of the
Mauryan Empire.

I1. Chandragupta Maurya founded the Mauryan Empire.

III. Kautilya was the successor of Chandragupta Maurya.

IV. Asoka was the son of Chandragupta Maurya.

Which of the above statements are correct ?

(A) TandIII (B) TandII

(C) IIlandIV (D) 1II and III
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3.

o o 0

frefeiad STepil <hl TEaT & JTH a9 6l 989 $iNT

o IR W G % e I fhU |

o NI o HIEAH W FE[ o 31N 1 YAHIU [ohaT ST Hehall & |
o EAT Tk Tk WHSh o I&I @RI hid o |

(A) = I (B) @TqdTEd o

(C) WU & (D) T AW
qTioT hi gEaes ‘sreeregrt MEfiad | 9 fhd fowa W staTia g 2
(A) o (B)  SATH

(C) T (D) Tafra (smgeg)

geul o fatg o afiehl & ar # F=fafegd O @ $H-a1 om od 787 2 2
(A) Tehl TSl @ &4 dal % iawd (99 Jugfaar) JaTs hl A L g |
(B) HWHIU W A {WI3 % 3 YE & BHA o IMY A ! SAIG Hid 2 |
(C) MM, TS § T80 & a9y it § |

D) Tayd = * fow 781 Som fie @

Y I 1 T a9 118 hifve 31 98t faemed w1 === hifu

&y [ gy Il
(<17 7157) (TIT7)
1. 39T (i) — dfHeTg
2. HEEATH (i) ~ WENISE
3. holl¥HTY (i) @R
4, R (iv) ST YA
IEETR

(A)  1-(i), 2-(ii), 3-(ii), 4-(iv)
B)  1-(ii), 2-(ii), 3-(iv), 4-()
(©)  1-(iv), 2-(), 3-(i), 4-(iii)
(D)  1-(iii), 2-(iv), 3-(), 4-(ii)
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3. Identify the ancient dynasty with the help of the following information :

o They issued spectacular gold coins.
o Their history can be reconstructed through Prashastis.

o Harisena was the court poet of one of its rulers.

(A)  Chola dynasty (B) Satavahana dynasty
(C)  Kushana dynasty (D)  Gupta dynasty

4, Panini’s book ‘Ashtadhyayi’ is based on which of the following themes ?

(A) Puranas (B) Grammar
(C) Mathematics (D) Medicine (Ayurveda)

5. Which of the following statements is not correct about the subsistence
strategy of Harappa ?

(A)  Terracotta sculpture of oxen indicates ploughing.
(B)  Two sets of furrows at right angles indicate two cropping patterns.
(C)  Traces of canals have been found at Shortughai, Afghanistan.

(D)  Deep water reservoirs have been found in Sindh for irrigation.

6. Match Column I with Column II and choose the correct option :

Column I Column I1
(Ancient Temples) (Locations)

1 Deogarh (1)  Tamil Nadu

2 Mahabalipuram (i1)  Maharashtra

3.  Kailashnatha (iii)) Bihar

4.  Barabar (iv)  Uttar Pradesh

Options :

A 1-(4), 2-(i1), 3-(ii1), 4-1v)
(B)  1-(Gi1), 2-(iii), 3-(iv), 4-(1)
(C)  1-(iv), 2-(1), 3-(i1), 4-(iii)
(D) 1-(iii), 2-(iv), 3-(1), 4-(ii)
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7.

10.

el WU I ‘A’ g 3Afehd TTEHTCH TS shi 9g=e shifse 3R FHm=failaa
T ¥ 98 faeheq o1 ==a il

A5

(A) e B) e
(C) = (D) 378

AETfTIEa 397 @acT glteamiaa qhemaal & 77 3. . 7 & W7 W& :
frafaRad § @ SH-81 Q9 WO, 78 Yoo § @ 7 2

(A)  HATTIAHITE] (B) st i &l

(C) ==t (D) ATl

“gd o ufem I AT A gHF HEfaiead § 9 fopden! Hiear SRR |
39T TG FHYd e 2

(A) 38 XIV (B) =med IX
(C) 9@ IX (D)  Tferd 11
FfIiagd MRl i Tl 8 @ Fomgen siifern & R & 9g=d
it

o  TE YEIHIA b Ush HEH ohid 3T Tifidehr o |
o  SgM Tad! wHT I Uh ST ®9 fem |

o TG hedTel hi IHIT |

(A)  ETeT Bie (B) <T@l TS S

(C) R g (D) s s

Tk Tom i gfd i |

TSR &1 dimfaes fefa o faw= o 999 e aran a2 T,
S IW-g feun # sEdl 8, g I8l HHd Teh Tehldeh $HUS o |

(A) U (B) gRl

(C) A (D) g
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7.

Note :

10.

Identify the structural feature marked ‘A’ of Sanchi Stupa and choose the
correct option from the following :

A

(A) Harmika (B) Yashti
(C) Chhatri (D) Anda

The following question is for the Visually Impaired Candidates, only in
lieu of Q. No. 7 :

Which one of the following stupas is located in Bhopal, Madhya Pradesh ?
(A) Nagarjunakonda (B)  Shahji-ki-Dheri
(C) Sanchi (D) Amaravati

To whom among the following did Francois Bernier dedicate his writing
“Comparing East and West” ?

(A) Louis XIV (B) Charles IX
(C) LouisIX (D)  Phillip II

Identify the disciple of Shaikh Nizamuddin Auliya with the help of the
following information :

o He was a great poet and musician of medieval period.
o He gave a unique form to Chishti sama.

o He introduced gawwali.

(A) Baba Farid (B) Data Ganj Bakhsh

(C)  Amir Khusrau (D)  Ziyauddin Barani

Fill in the blank.

The most striking feature about the location of Vijayanagara was the
natural basin formed by river which flows in a north-easterly
direction.

(A) Narmada (B)  Godavari

(C) Kaveri (D) Tungabhadra
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11.

12.

13.

14.

15.

frafaRaa & @ fora onfeamel T=m = 16d 3R 1741 @G % RA T
ATHTSY 91 hTHI THIE STAT 3T AEqUl et FHHTS ?

I. qSTe | AR

[I. 399 ¥ 328M

[II. <7 H %=

V. TewH | %A

Torehey

(A) 1L, II 3R IV (B) I, II3R III
(C) LII3RIV (D) I, I3 IV

$1 IqQT 4 YRA hi AW % GRH hE THE WG I Th FS1 AR, o
SATETE Tl 9T WG H Tod 987 9ar |

(A) e (B) PRI

(C) e (D) foeeft

fcIRad 4 € Toh8 TTHTST 1 “Shfceh TTHSIY el Al o1 2

A) =X (B) U

©) = (D) oI

3TheR o WA H Y & ekl o Hey § ffaRad 9 ¥ a1 e |98
gaferd 8 2

(A) WA : I T8I AT St grat oft |
B) 9O ; ¥ STET gi= 99t 9 Qdt T8 <kl T8 |
(C) TR : W gl Uk oy ¥ Wl T 1 T |
(D) TS : YW &l d9 a9 & Wl T8 ol TS |
= @ ed fou MU E, SAfieed (A) 3R WU (R) | 3 SIS dfeT IR
et faered o1 ==F HifT
SfIFHYT (A) : TEIHUE] Sciaed H FHIGK TSEd | <hl 37T T8 o 9T 37X
SR ThH Sad] T8 |
FRU(R):  gu fafy (Fr@) & gER, Ife ffvaa o & 9@ o
B T YIAE @ AT o1 Al WHig! Wi A T 5
GehdT o |
(A) 3R (A) 3R SR (R) SHT T@l 8 3 SR (R), HAT (A) i
) AT KT B |
(B) MM (A) 3R SRl (R) THI T8l &, T R (R), AR (A) i
T3 uTew TET Ha g |
(C) 3IfiRe (A) W&l 2, Td 1 (R) T4 & |
(D) AHeA (A) Td 8, T SR (R) & 7 |
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11. Which of the following tribal kingdoms exerted considerable influence
and played a significant role in the Mughal Empire during the 16t® and
17tk centuries ?

I. Lohanis in Punjab
II. Ahoms in Assam
III. Koch in Bengal

IV.  Kols in Singhbhum

Options :
(A) II, III and IV (B) I,II and III
(C) LIIandIV (D) I,III and IV

12. During Ibn Battuta’s travels in India, which prominent city did he visit
and describe as ‘a vast city, with a great population, the largest in India ?

(A) Daulatabad (B) Agra
(C) Calcutta (D)  Delhi
13. Which of the following empires was called “Karnataka Samrajyamu” ?
(A) Chera (B) Pallava
(C) Chola (D) Vijayanagara

14. Which of the following pairs is correctly matched regarding the
classification of lands under Akbar ?

(A)  Polaj : Land which was cultivated annually.
(B) Parauti : Land uncultivated for five years.

(C) Chachar : Land left uncultivated for a year.

(D) Banjar : Land laid fallow for three years.

15. Two statements as Assertion (A) and Reason (R) are given below. Read
them carefully and choose the correct option :

Assertion (A) : Zamindars in the Permanent Settlement failed to pay the
revenue demand and unpaid balances accumulated.

Reason (R):  According to the Sunset Law, if payment did not come in
by sunset of the specified date, the zamindari was liable
to be auctioned.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of the Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D)  Assertion (A) is incorrect, but Reason (R) is correct.
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16.

17.

18.

19.

1857 = fagig ¥ gafia fF=fafigd Teatetl o1 shicshides A | sFafedd hifog
IR FAfeafaa § @ g8t faeeg =1 =2m HifSw

I. 3169 § UHYYd Sgie

I[I. 3799 T 98 aiy

1. faform sfds 6t garam! Hifaat

IV. STNETE Syor

IEETR I

(A) ILII, I, IV (B) IIL I IV,I

(C) L IIL IV, II (D) IV, 1,11, III

efIRad § € I AR TS HE o IERATICAT o THg § Fafed of ?
(A) ot TER et (B) ATl ATSHd T

©) faftm =g e (D) T HT M@

9 11 QU T Ffaam™ |91 < Teedt i e & ¥ [ U T4 3eh AmHi
ﬁﬁlﬂ'ﬁ@ﬁﬂl:

&y I Ty Il
1. TS 991G (i) T&F ANHBR
2. TH.TH. gEsff (i) HfgaH a9 & T=q
3. SR I8% (iii) HIYeh TATERN
4, S.TA. 19 (iv) Gfaum g ¥ 329 y&dra uried foram
faepey :
(A)  1-(1), 2-(i1i), 3-(i1), 4-(iv)
B) 1-311), 2-(iv), 3-(1), 4-(iii)
(C) 1-(i11), 2-(1), 3-(i1), 4-(1v)
(D) 1-311), 2-(1), 3-(iv), 4-(iii)

frefeiiad 4 9 ‘Srag e § TS g ] shi T8 Waarl Jorel! shi et
forRIwar st off 2

(A)  FHiGR % HIeH B AT Tord T

(B) UM HHSH g YW 1 GF[eh WTHE

(C)  3TISH 1 WY fopaTl o T ToTEa THEhT

(D) HHHAT I FGH ® O Y| JagRI bl &1
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16. Arrange the following events regarding the Revolt of 1857 in
chronological order and choose the correct option from the following :

I. Summary Settlement in Awadh

I1. Subsidiary Alliance in Awadh

III. Reforming policies of William Bentinck
IV. Azamgarh Proclamation

Options :
A) ILILILIV (B) IILILIV,I
(C) LIILIV,1I (D) IV,L 11, III

17. Who among the following belonged to the group of ‘Moderates’ of the
Indian National Congress ?
(A) Bal Gangadhar Tilak (B) Lala Lajpat Rai
(C) Bipin Chandra Pal (D)  Gopal Krishna Gokhale

18. Match the roles of the members of the Constituent Assembly given in
Column II with their names in Column I :

Column I Column I1
(Members) (Role in the Constituent Assembly)
1. Rajendra Prasad (i)  Chief Draughtsman
2. S.N. Mukherjee (i1) President of the Constituent Assembly
3. Jawaharlal Nehru (iii) Constitutional Advisor
4. B.N. Rau (iv) Passed the Objectives Resolution in the
Constituent Assembly
Options :

(A 1-(), 2-(iid), 3-(11), 4-1v)
(B)  1-(i), 2-(iv), 3-(1), 4-(iii)
(C)  1-(ii), 2-(1), 3-(i1), 4-(iv)
(D) 1-Gi), 2-(1), 3-(iv), 4-(iii)

19. Which of the following was the primary characteristic of the Ryotwari
system implemented by the British in ‘Bombay Deccan’ ?
(A) Indirect revenue collection through zamindars
(B)  Collective ownership of land by village community
(C)  The Britishers settled revenue directly with the peasants
(D) Lands were given to the Jotedars to promote equality
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20. 1857 o TIgIg o Aaretl (YR I) i 3Tk hrgl (FET I1) & 1 A hitog
IR FrfaiRea § 9 @&t fashew o1 =3 Shifre

gl I gl
(7e1) (%)
1. W A (i) @Y
9. DR THE (i)  HHEER
3. dIfie 3Tt M8 Gii) feEr
4. TotfsE #g (iv) TGS
faepey :
(A)  1-(ii1), 2-(1), 3-(i1), 4-(iv) (B)  1-(i1), 2-(ii1), 3-(1), 4-(iv)
(C)  1-(iv), 2-(ii), 3-(iii), 4-(i) D)  1-(i), 2-(iv), 3-(ii), 4-(iii)

21. T=faRed foeredi @ 9 Gfaum aaT o a7 & TTufHes HROT hl Ug=H iy :
(A)  9Tdl o I & fau e faurft Feem i carer
(B) W~ % HIEAH § WA oh [AWTSH o HEi ohl AT

(C)  3TUS o E1Y WA hl TIddl hl Al I STa=iid el
(D) TIdd YA o T o [T Teh AHIET IR T

Qs 9
(T -3 TR o I9) 6x3=18
22. (%) gewg [y =1 weh wewma fafu =i war smar 2 2 wuse hifvu | 3
JrraT

(@) w1 i T eprdt gomedt w1 a3 TR Fqul =i 7 ST g 2 T
HIT | 3

23. “HIY AWHTSY % 3MQE hl T o AT 3iageei + fafye YR o |l o1
ST TR 8 17 39 e sl SR Higd AT ity | 3

24. (%) TOSITR AT & IHH b ®F H FUCT T hl YHAT HI {a9cmol
| stora 3

(@) oo R AT & 8= 3R YN e § ST uITedl” &l W@
HY | 3
25. “E7-U-37et] 1 S HHT § |7 39 B hl WG HIWT | 3
26. 1813 hl Uredl fUle 6l THIAIEHCHS WG iU | 3
27. 1857 fagig & SR B IH o fohdl A @il 1 9vi HifT | 3
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20.

21.

22,

23.

24.

25.
26.
27.

Match the Leaders of the Revolt of 1857 (List I) with their Centres
(List IT) and choose the correct option from the following :

List I List I
(Leaders) (Centres)
1. Nana Sahib (i) Awadh
2.  Kunwar Singh (i1) Kanpur
3. Wajid Ali Shah  (iii) Bihar
4. Birjis Qadr (iv) Lucknow
Options :
(A 1-(Gii), 2-(1), 3-(31), 4-\0v) B)  1-Gi), 2-(ii), 3-(1), 4-(iv)
(C)  1-(Gv), 2-(i1), 3-(iii), 4-(1) D) 1-G), 2-(Gv), 3-(ii), 4-(iii)

Identify the primary reason behind the formation of the Constituent
Assembly from the following options :

(A) To establish a legislative body for the governance of provinces

(B)  To settle issues of Partition of India through coordination

(C)  To negotiate the terms of India’s independence with the British

(D) To draft a framework for the governance of independent India

SECTION B
(Short-Answer Type Questions) 6x3=18
(a) Why is the Harappan script called an enigmatic script ? Explain. 3
OR
(b) Why is the Harappan drainage system considered a planned and
complete drainage system ? Explain. 3

“Historians have used a variety of sources to reconstruct the history of
the Mauryan empire.” Explain the statement with examples. 3

(a)  Analyse the role of Krishnadeva Raya as the ruler of Vijayanagara
empire. 3
OR

(b) Examine the ‘Amara-nayaka system’ in the military and
administrative structure of the Vijayanagara empire.

“There are some limitations of Ain-i-Akbari.” Examine the statement.

Critically examine the Fifth Report of 1813.

L W W W

Describe any three sources to know about the Revolt of 1857.
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28.

29.

30.

31.

Qs 1

(Srd-STHT TR & T9) 3x8=24

(%) “Sfaem@sii 7 TIYRG $Td o G JINETNeh 9941 o s Il 3R
faftm gt 1 At TR 2 17 39 sem I g Afgd e

HIT |

JrraT
(@) “vu fafvw o & 59 W 3fagmerl 3 98 &1 favemor fomn 8 iR
3 Ueh TARiil U el 8 |7 39 A hl ISR dfdd AT it |
(%) e &% guF 3 framati w1 ol A |
JrqaT
(@) T M <d o g¥H IR feqredi =1 guiH hifere |
(%) “9na SISl AGA | fofes sEa o1 K € 3R R Taaaar & Jml
! I3 T 17 39 U Sl T 3EUET |
JrqaT

(@) “oTHgam e § HeTeHT et i fiert TEqul off 1”7 39 HU i

I 38Uy |

@UE ¥
(Era-ameTia I9 ) 3xd=12
fqu 7w &a @l eagEs afer R = fou e ge i o I T 1+1+2=4
Frafaare v difdeward! ?

T8I B 7 [ | Toll T g% ¢ w & | 3HH " <k TN e 3R g5
& SI9 STaeid =T 9uH fohaT T B |

T IR TS I §g o 4E U 3R I8 HF@ll META AHh Teh 3
ﬁﬂ&:@ﬁﬁﬂﬁiﬁﬂé

“Frarteh gigH™ @M I8 fova™ +id 8 fh 39 9@ 9. 39 e | § A
TTCd Sh&T... @ 3val h1al sl hich YR-€R HH Gith s I AT | TH1 H &
ﬁé@ﬁwwlg@ﬁig@ﬁ‘ﬁﬁaﬁﬁwﬁmwmm%|
39 9ER ¥ Sgar gl S EHT | 39 QI IT TSHT 8l S Gehdl | S| 9T <6
AT Heh & T FEohd-d@ehd AT T ATs T GoAdT ST & IH TE @ 31
ﬁgﬁﬁﬁﬁﬁﬂf&amﬁﬁﬁ@@@wﬁaﬁﬁl”
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28. (a)
(b)
29. (a)
(b)
30. (a)

(b)

SECTION C

(Long-Answer Type Questions) Ix8=24

“Historians have studied many rules and varied practices of
familial ties during the Mahabharata period.” Explain the
statement with examples.

OR

“There are various elements on which historians have analysed
Mahabharata and called it a dynamic text.” Explain the statement
with examples.

Describe the philosophy and teachings of Kabir.
OR

Describe the philosophy and teachings of Guru Nanak Dev.

“Quit India Movement challenged the British rule and shaped the

course of Indian Independence.” Justify the statement.
OR

“Mahatma Gandhi’s role was significant in the Non-Cooperation
Movement.” Justify the statement.

SECTION D

(Source-Based Questions) 3x4=12

31. Read the given source carefully and answer the questions that

follow :

Fatalists and materialists ?

Here is an excerpt from the Sutta Pitaka, describing a conversation
between King Ajatasattu, the ruler of Magadha, and the Buddha :

On one occasion King Ajatasattu visited the Buddha and described

what another teacher, named Makkhali Gosala, had told him :

“Though the wise should hope, by this virtue ... by this penance I will

gain karma ... and the fool should by the same means hope to gradually
rid himself of his karma, neither of them can do it. Pleasure and pain,
measured out as it were, cannot be altered in the course of samsara
(transmigration). It can neither be lessened or increased ... just as a ball
of string will when thrown unwind to its full length, so fool and wise alike
will take their course and make an end of sorrow.”
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32.

3R 3TSAA hHehdTo THe (e  Ig IUSI TG

‘%TIGFI 'Eﬁ,ﬂﬁmmﬁﬁws 4 A& B .. 39 g A gEd
EERIESCIETHACIE T I
A =R awdi 8 91 81 8 | 59 98 WAl g a« Hgl arer 7% geat °, 5

AT 3 T H, THT JIAT W AT H, TiF 1 A 91g H Iud WA S @
@TWQ‘@WW&TW%@TWW%

TF ¢ <l 91d @I I MG 7, @@ IS ® ... §@ &l A1 fagH qHl & e
A B A 3 | Gog o 91G his gl s=al |

W TR o IUCIh ATk TOU o ¥ | I8 JAHKI HI(daTe] gl Sdl
3 — W o o fovam i o T w9 3o 4d Ruifa 2 | e memw % e
AR WO & 9 g amd: fifdesard s ST @ | 39 eifae wuust %
79 9% B ¢ 2 | 3EfeTT BH 31 Wuush @ F 3 91 H SR e @ |

(31.1) H W HRIfT META o o=l p1 fargetwor hifse |

(31.2) TSI hEhalH o AT 1 Yehld o IR qdl o A9 &Y i fohd
TehR FfTa feparm 2

(31.3) 3@ &@Id & gcd d frafqard) stk «Wifderardt & R 3 It s
i |

fqu 7w &a @l ergEs qfer AR = fou e ge i o I T 1+1+2=4

WRd < fowa § o= &t w9 var

YRA o faw § fo=mi &1 g9 3R T9R & U AR o6 Jardi 3 36
J&hl < TN AR TER & Heqd | JUU ATl o ol wia it T B
g § HEgral i | 916 H, 1750 % G, 9 WG SaaHe a1 Wl o1 arfes
S WA 5 A9 T AT AT AT I JAGT AN Sl ARATT GHIS <hl Bf 1
AT ST UST 3T I8 qel shl T STl SIRSTT o HIW 4 39 gHTfed
A T JIE R 3R YR st HEH TS =T |

(32.1) @ sfaegeH MR el 319 difae 3 WRA o Uid JUI FER
forg Jepr AN &1 2

(32.2) WEHIH 9Rd W U <@l gl et T Topeft th geash
35T ST |

(32.3) JUMTAT GRI T*qd WRA s Sfd 3R AR o TR o s Fgeaqul
3R ol TI< HIWT |
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And this is what a philosopher named Ajita Kesakambalin taught :

“There is no such thing, O king, as alms or sacrifice, or offerings ...
there is no such thing as this world or the next ...

A human being is made up of the four elements. When he dies the
earthy in him returns to the earth, the fluid to water, the heat to fire, the
windy to air, and his senses pass into space ...

The talk of gifts is a doctrine of fools, an empty lie ... fools and wise
alike are cut off and perish. They do not survive after death.”

The first teacher belonged to the tradition of the Ajivikas. They have
often been described as fatalists : those who believe that everything is
predetermined. The second teacher belonged to the tradition of the
Lokayatas, usually described as materialists. Texts from these traditions
have not survived, so we know about them only from the works of other
traditions.

(31.1) Analyse the views of Makkhali Gosala on karma.

(31.2) How did Ajita Kesakambalin describe the relations of human
beings with the four elements of nature.

(31.3) Differentiate between the views of a Fatalist and a Materialist in
reference to this source.

Read the given source carefully and answer the questions that

follow : 1+1+2=4

The creation and circulation of ideas about India

The writings of European travellers helped produce an image of India for
Europeans through the printing and circulation of their books. Later,
after 1750, when Indians like Shaikh Itisamuddin and Mirza Abu Talib
visited Europe and confronted this image that Europeans had of their
society, they tried to influence it by producing their own version of
matters and described India as a great nation.

(32.1) In what way did Shaikh Itisamuddin and Mirza Abu Talib
challenge the version of Europeans towards India ?

(32.2) Give any one example of a book authored by European writers on
Medieval India.

(32.3) Explain the significant difference between the image of India
presented by Europeans and the versions of Indians.
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33. fou u Ea @ eamyds ufgu it Fiw fou o ge &% 3w dfvw 1+1+2=4

B Teh TIaA AYY TURSY shi TATHHT 1 §g AR Ifo Hehed =1 B | WRA I
Ty BT a8 | ST Wad BT 3R VRIS gHT ot wrfass 2. | B9 i
q GaTd 33T 3 : A TG Arhdieh Weg R g1 W@ 27 B 378 hal 7 b

fees I8 9T ST ¥ohdl @ Toh WIS TURIST ARhdlfieh | 81 W g9 g (e
39 a9 &1 Aigh g foh g0 Ahdities TEATSAT o & GHER § | @il & b
EANI AT AAlhad @ | Aichad & A S 1 T80 | I8 Alhds hal M, Iqeh!
TFA-FLA T BT, T8 Teh T HHAT & | TS o ARAA] - G b1 (A H
SEIEE] {HeRT MWTE 3 3R ITH ¥ 95d SR JUY a1 31 T o < & | /g
g TCESh gl Tohdl & foh 3R 3¢ U A& Alhdlh o+ &A1 & A 1 I Hd
37 kAl hl U aFA-GLd Al F8d gl gSdl | H IR0 w1 § foh
Toret =hiora TATehdTiieh o1 <hl Ueh WY Slehdlizeh JUTcet 37 Terd] TEH fomiy i
g0 % Tohdd L Tl 81 & | B Fohal g Th §9 ITH SER PO & ¢ |
RE, fel o gea @, &9 TEl S W WHN 91, 98 R Il o T
% ITET 3 ITeh! TR T&L BT AT | §F SAlhdd o &b H & | I8 39
TG I T BT 8 Toh 6 ARKAA, YUIGH TAlhdd 1 &Y hdl 8T | TG 39
ST Sl @ Thdl g JEU 36 TG H g “ARhAIeh  W6¢ I SEHIA Hal
fopaT g FiTh gH ol Toh I8 A1 TaTHTiaeh &1 & Tob “TUISy” w1eg § 9% ¥16¢ U8
& fifed it 8 | SEfely g9 SFrawash SN SIuart wegl 1 AN TE HT
IEd o | g9 IeQ o IUANT A | el sAEl &I I 7 | g9 39 T |
WArhaa sl Tddeg Td 1 8 | Afceeh cAlsha hl & &I, ATTIH cArehad I
FqaEd TEqd H B |

gid : GiaerT gy 987 (CAD), TS 1

(33.1) @A H Ak G@ IR Ufad Fehed I Ig@ chIT | 1
(33.2) Hid forT TR diehdd & Ifd Jfddgdl W S <1 8 ? 1
(33.3) 39 Hid H Alehdd hl SITEAT UGS & HcH H fohd TR 6l T 3 2 2
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33. Read the given source carefully and answer the questions that
follow : 1+1+2=4

We say that it is our firm and solemn resolve to have an independent
sovereign republic. India is bound to be sovereign, it is bound to be
independent and it is bound to be a republic ... Now, some friends have
raised the question : “Why have you not put in the word ‘democratic’
here. ?” Well, I told them that it is conceivable, of course, that a republic
may not be democratic but the whole of our past is witness to this fact
that we stand for democratic institutions. Obviously we are aiming at
democracy and nothing less than a democracy. What form of democracy,
what shape it might take is another matter. The democracies of the
present day, many of them in Europe and elsewhere, have played a great
part in the world’s progress. Yet it may be doubtful if those democracies
may not have to change their shape somewhat before long if they have to
remain completely democratic. We are not going just to copy, I hope, a
certain democratic procedure or an institution of a so-called democratic
country. We may improve upon it. In any event whatever system of
government we may establish here must fit in with the temper of our
people and be acceptable to them. We stand for democracy. It will be for
this House to determine what shape to give to that democracy, the fullest
democracy, I hope. The House will notice that in this Resolution,
although we have not used the word “democratic” because we thought it
is obvious that the word “republic” contains that word and we did not
want to use unnecessary words and redundant words, but we have done
something much more than using the word. We have given the content of
democracy in this Resolution and not only the content of democracy but
the content, if I may say so, of economic democracy in this Resolution.

Source : CONSTITUENT ASSEMBLY DEBATES (CAD), VOL. 1
(33.1) Mention the ‘firm and solemn resolve’ expressed in the passage. 1
(33.2) How does the passage emphasize the commitment to democracy ? 1

(33.3) How is democracy explained in the context of republic in the

passage ? 2
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34. (34.1) WRAh U T TSI WI-AFRH (T8 23 W) H, FH=faRad i
3T Tl § 3ifeha hIfT TR 3 A ToaifaT - 3x1=3

(i) 9IAERT - Teh faehid ST qUeed

(ii) IS - TESHIG

i) (%) U - Ged & I &
HAAAT

(iii) (@) TIeRIeT

(34.2) WRA % 3HI TeHIfde WM W YRAT TS A 8 gefea

T gl i A 3T B ¥ 3ifehd foram T 8 | 32 ug=nT 3 3k ke
it 18 Wt W wE am fafegu |

HE7(TiEa 5797 @acT glteamiaa qaemaal & 77 3. d. 34 & &7 W E :

(34.1) ST A o fobrgl al YU I IocT@ T |
(34.2) () TISl o FAfH fopelt T &7 T Ieorg HIfT |

AT

(34.2) (@) TaoITR a=T & fhdl T TS T *T Ieai@ HINT |
(34.3) MR TS 3T o foheal Q1 hrgl 1 Ioci@ <hIfTT |
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SECTION E
(Map-Based Questions) 5

34. (34.1) On the given political outline map of India (on page 23), locate
and label the following with appropriate symbols : 3x1=3

(i) Dholavira — A Matured Harappan site
(i1) Ujjain — Mahajanapada

(iii)) (a) Panipat — Territory under the Mughals
OR
(iii) (b) Golconda
(34.2) On the same outline map, two centres related to the Indian

National Movement are marked as A and B. Identify them and
write their correct names on the lines drawn near them. 2

Note: The following questions are for the Visually Impaired Candidates,
only in lieu of Q. No. 34 :

(34.1) Mention any two Harappan sites. 2
(34.2) (a) Mention any one territory under the control of the Mughals. 1
OR
(34.2) (b) Mention any one neighbouring state of the Vijayanagara
empire. 1
(34.3) Mention any two centres of the Indian National Movement. 2
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I H. 34 % fow For question no. 34

TR T - (T TTereh)
Outline Map of India (Political)
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